« «

«

1.00 -
150 -
2.50 -
3.50 -
450 -

«

« «

1.49
2.49
3.49
4.49
5.00

«



s.D.2
of o]

FwraNnsaluniingas
CHuLALONGKORN UNIVERSITY

54



»

26 -
3 -
3 -
4] -
46 -
ol -
5% -

30
3
40
45
50
55
60

«

85
63

148

30
44
20
39

148

57.43
42.57

100.00

0.68
3.38
20.27
29.73
13.51
26.35
6.08

100.00

110
237

347

14
59
107
84
44
24
15

347

31.70
68.30

100.00

4.03
17.00
30.84
24.21
12.68

6.92

4.32

100.00

195
300

495

15
64
137
128
64
63
24

495

55

39.40
50.60

100.00

3.03
12.93
21.67
25.86
12.93
12.73

4.85

100.00



»

1

133

14

148

6 0

6- 10 2
n- 12 22
16 - 20 43
NULI25 30
26 46
148

42.57
31.70

0.68
83.86
3.46

100.00

1.35
14.87
32.43
20.27
31.08

100.00

!
232
43

347

32
123
103

42

3

347

2.02 8
84.15 425
13.83 62
100.00 435
2.02 7
3.22 34
35.45 145
3141 157
12.10 12
3.80 80
100.00 435
» 57.43

56

1.62
85.85
12.53

100.00

141
6.87
23.29
31.72
14.55
16,16

100.00

68.30



60.60
2. 41-45
29.73 51-55 | 26.35
26-30 0.68
30.84 41-45 ! 24.21
26-30 4.03
36-40 27.67
41-45 25.86 26-30
3, »
89.86 « 9.46
0.68
84.15 » | 13,
2.02
] > ] 85.85
12.53 »
4, 16-20
32.43 26 31.08
6-10 1.35
11-15
16-20 6
2.02
16-20 31.72
11-15 29.29 6

141

39.40

36-40

83

»

»

o7

3.03

1.62

35.45



«

2.02

27.88

10
138
125
222

495

58

2.02
27.88
25.25
44.85

100.00

H
44.85



(N= 148)

X1

431

4.09

4.39

4.08

3.57

SD.

0.64

0.59

0.59

0.63

0.81

(N = 347)

X)

4.17

3.93

4.30

3.78

3.31

S.D.2

0.72

0.69
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0.73
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(N = 495)

X

421

3.98

4.33

3.87

3.39
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(N = 148)
X1 SD.1

418 0.58

3.98 0.66

3.98 0.78

410 0.67

(N = 347)
X SD.2

3.82 0.73

3.70 0.71

3.63 0.77

3.82 0.74
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3.79 0.71

3.74 079

3.90 0.73
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(N = 148)

X1

3.87
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0.72

0.67

0.71

0.64

0.74
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3.46

3.45

3.34

3.47

3.52

S.D.2

0.77
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0.86

0.32
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13
3
1
X2 = 4.17)
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(N=148)  (N=347) (N = 495)
XL SD.  x2 S$D.2 X S.Dt

379 0.62 353 077 361 0.74

3.99 042 370 049 379 0.49

=433 <t =439, x2 = 430)

=421 <«xt =431,

=398 (X = 4,09, «2 = 393)
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=393 1=4.18, x2 =382
9 [
=390 1=410, x2 = 3.82)
4
387 =4.08, x2=3.78)
I
=379 1=13.98, X2 =3.70)
8 { [
=374 1=3.8,
X = 3.70)
1 (
=363 1=3.90, x2 = 3.52)
15
=361 1=3.79, x2 = 3.53)
13
=350 =386, x2=347)
10
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X2 = 3.46)
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0 o 13
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1= 3.85, X1 =3.34)
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(N = 148)  (N=37) (N = 495)
Xl SD.1 x2 SD2 X SD.

« 395 069 366 078 375 0.7

«

M « 397 062 363 078 373 0.5

«

391 074 363 081 3.71 080

«

399 070 374 075 3.82 0.74

« 390 073 357 0.80 3.67 0.79
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(N=148)  (N=37)  (N= 495)
XL SD.1 X2 D2 X SD.

416 074 393 069 400 071

428 0.62 398 0.67 407 067

398 073 3.68 075 371 076

422 059 393 0.70 4,02 0.68

413 065  3.82 071 391 0.70
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0.75
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8
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1
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2
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3

=371 1=391, x2 = 3.63)

=367 1=3.90, X2 = 3.57)
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(N = 148) (N = 347) (H = 495)
X S§D.1 X .D.2 XT .D
11, «
373 0.74 327 094 341 0091
3.96 051 363 063 373 061
[ «
)}
9
|
= 411 (Xt = 4.24
X2 = 4.05)
8 ]
3.98 <t = 4.15, x2 =3.91)
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= 388 (X1 =407, x2 = 3.80)
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3
=388 <XL=4.00, xa=382)
=376 < =397, x2=3.67)
4 »
=368 (X =3.93, x2=357)
10
=363 1=393, x2=1351)

9

=360 1=391, x2=347)
6 «
355 1=3.79, x2 = 3.45)

2
! «
=349 1=1378, x2 =337
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= 341 = 3.73,
x2 = 3.27)
{
2 X1 =318
3.73 X2 = 3.37 3.21
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[ =3.13

1=396, x2 =3.63)
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(N=148)  (N=31)  (N= 495)
X1 S.D. x2 S.D.2 XTI S.D.

(
392 0.65 352 025 364 082
( 403 068  3.74 080 3.83 0.78
387 0.67 343 090 356 0.86

Vi

384 061 357 084 365 0.79
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XL SD.I X D2 X SD

376 073 332 084 345 0.84
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383 048 352 0.65 353 0.63
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=370 1=3.93 x2=3.60)
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(N =148)  (N=3)  (N= 495
Xt SD. L SD. X D

»

263 102 294 099 285 0.98

247 107 278 098 269 101
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T
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5
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12
kiv
(N=148)  (N=3)  (N=495)
Xt SDI X SD3 X DT
7V
246 062 284 076 273 07
268 053 294 081 286 0.75
258 054 293 078 283 0.73
249 075 288 007 276 0.72
1

220 106 245 092 237 098

260 057 288 071 280 0.68
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(N=148)  (N=347)  (N-= 495)
X SDI X D2 X s.dt
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(N=148)  N=347)  (N=495)
Xt SD.I X SD.2 X .DT

278 103 317 104 305 105

3l
243 094 284 1.04 272 1.02

249 087  3.02 073 286 0.86

257 083 297 088 285 0.8
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(X = 2.65, X2 = 3.20)
8 ] «
286 1=249, x2 =302
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« 2.80 (ffl=2.61, X2 =2.88)
1 «
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2

2.53

2.46

2.45
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2.24

SD.1
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(N = 347)
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5()
(N = 148) (N = 347) (N = 495)
Xt S.D.1 X D.2. XT SD.t
! }
« 245 101 280 088 270 091
8 «
« 2.45 0.72 282 107 271 1.08
9 « o«
« } 252 1.00 291 093 279 0491
2.46 (.88 283 089 272 0.90
15 . I«
)
«
« 8
2 « 2.94

<xt =253, x2 = 3.11)
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1
279 1= 255 X2 =288)
9 ] !
279 1=252, x2 = 2.91)
3
207 1= 246, x2 = 2.90)
B
271 1=245, x2 =282)

7
] 270 1= 245, x2 = 2.80)

4 ]

270 1= 245, x2 = 2.81)
5
269 1=241, x2 = 2.81)
]
3. 4 5 1 8
12246, X =245, 241, 245  2.45)
22290, 2.81, 2.81, 280  2.82)
]
1

b

246 1=224, x2 = 2.56)

= 2.72
x1 = 2.46
x2 = 2.83
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(N=148)  (N=341) (N =49
Xl SDI X D2 X SDit

272 063 318 082 3.04 079

278 071 314 086 3.03 085

272 066 288 093 2.83 0.0

260 096 293 106 283 1.0

253 102 2B7 104 207 1.04



105

1 ()
(N=148)  (N=341) (N = 495)
X s.p. 1 X2 s.0.2 XTI s.p.
0
235 102 263 100 255 101
[
2.61 0.90 297 067 286 0.95
2.61 0.90 294 091 284 0.92
16 «
{ |
{!1 «
«
1 « « «
3.04  1=272 X2:3.18)
2

303 1=278, x2=13.14)
T 2.86
(X =2.61, x2 =2.97)
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!
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5
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b
(X =1 2.35) ) = 2.53)

}] |
1= 2.6, X2 = 2.94)
|
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«

= 2.84
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(X = 2.85)
(X = 2.84)
(X = 2.73)
X = 2.72)
X = 2.72)
(X = 2.54)

!

2.13
2.12
2.54
2.85
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2.84

2.11

5D,

0.91
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0.86
0.88
0.90
0.92

0.80
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